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Run 5211 mpswise, accO: All

Enilries: 1746863

Mearn: 08242 o0 U000

Sid Dev: 01634 - 00003

0.2
AcciNAccD

Run 5211 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==1

Enitries: 0

Mean: 00000 +- 0,000

Sbd Dev: (L0000 4+~ 00000

Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000
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Run 5211 mpswise, acc(: Beam OFF

Enilrie=: TE208

Meary: -0.50588 «/- 0UDODE

Sid Dev: 01508 - 0.0004

0.2
AccliNAccD

Run 5211 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Enlries: 17274

Mear: -0.77H o/ - DDO0DS

Sid Dev: 01215 & 0.0007
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Accl/MNAccD

-1.2

Run 5211 mpswise, Acc0 vs Time: All
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Run 5211 mpswise, AccO vs Time: Beam ON, Laser ON
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Run 5211 mpswise, AccO vs Time: Beam OFF
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